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DOW30 17750.91 (-0.78%) WTI 43.65 (-2.5%)
NASDAQ 4763.22 (-1.13%) COMEXZ 1291.80 (-0.3%)
S&P500 2063.37 (-0.87%) COMEXTE| 2.2145 (-2.08%)
KOSPI 1986.41 (+0.42%)
KOSDAQ 698.66 (+1.22%) k=t 1.795% (-1.2bp)
o|=2 1.80% (-7.6bp)
S2/299 1.1495 (-0.0036) = 1.53% (-6.7bp)
S2/4 122.53 (-0.36) == 0.20% (-6.6bp)
/o 106.56 (+0.16) oA 0.56% (-5.6bp)
=Ha{/29t 6.4565 (-0.0024) o|Et2| o} 1.45% (-1.6bp)
/=g 1140.20 MY 1137.80 Amjol 1.55% (-1.7bp)
NDF 1152.00 / 1152.50¥ 11358 A& dg|a 8.32% (+8.1bp)
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-3¢ -'?-Q“',-/,*-ﬂ (O] ™:-47.10B, 0fA}:-41.50B) -47.10B -41.50B
o= -1827| SR = SH|E (QoQ) (0|T:3.3%, 0f4:3.3%) 3.3% 3.3%
-42l MarkitZgtPMI 51.7
-42l ISMH|X|Z=PMI (0] ™:54.5, 0fAH:54.7) 54.5 54.7
-4 AMH|APMI (0]A:52.1, 0f|Ah52.1) 52.1 52.1
38 BEFE (MoM) -1.7% 0.6%
-42 MarkitZ%PMI (0] M:53.0, 0| A:53.0) 53.0 53.0
FEE -4 AMH|APMI (0]A:53.2, 0f|Ah53.2) 53.2 53.2
-3¢ A0f=of (MoM) 0.2% -0.1%
o -42 Z=3IPMI (0] X:53.8, 0 AH:53.8) 53.8 53.8
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3y 1.445% (-2.0bp) 3y 4.1bp (-11bp)
5y 1553% (-1.0bp) 5y -8.5bp (-1.9bp)
10y 1795% (-1.2bp) 10y -18.8bp (-2.4bp)
cD 1610% 0)
1y 14525% (-1.0bp) 12y 475 )
2y 1.4050% (-10bp) 243y 175 (-0.25bp)
3y 14225% (-125bp) 25y 8.00 (-0.25bp)
5Y 14850% (-1.25bp) 3+5Y 6.25 )
7v 15425% (-1.25bp) 5+7Y 575 )
10Y 1.6300% (-1.25bp) 5+10Y 14.50 )




